Alt.1  Alt.2 Alt.3 Alt.4 Alt.5  Alt.6
BY = DT (K1(1270)F — K*(892)° nt) 122 120 139 11,5 147 128
BY — DT (K1(1270)*[D] — K*(892)° n%) 0.4
BY — DF (K1 (1270)* — K=+ p(770)°) 16.2 14.6 217 156 186  16.5
BY — DF (K1(1270)F — K+ p(1450)9) 0.3
BY — DF (K1(1270)* — K (1430)° 7%F) 3.9 3.5 3.7 3.6 3.0 3.6
BY — DT (K1(1400)* — K*(892)0 7 %) 43.1  61.1  59.8 577 695  60.6
BY = DF (K1(1400)* — K+ p(770)°) 0.5
BY — DF (K*(1410)* — K*(892)° 7%) 129 140 136 138 242 135
b—c BY 5 DF (K*(1410)* — K+ p(770)?) 4.9 5.8 4.9 5.3 3.6 5.2
BY — DF (K(1460)* — K*(892)0 nt) 1.7 1.3
BY — DF (K(1460)* — K% p(770)°) 0.2
BY — DT (K(1460)* — K+ £(500)°) 0.6
BY — DF (K*(1680)* — K*(892)0 7t) 5.5
BY — DF (K*(1680)F — K= p(770)?) 1.9
BY — DT (K2(1770) — K*(892)° 7 %) 0.4
BY — (DT nt)p K*(892)° 8.8 9.3 9.5 7.7 10.2 9.2
BY — (DT K%)p p(770)° 1.3 0.7 0.1 0.6 0.2 0.5
Sum 105.1  121.7  127.6 118.0 151.5 122.1
BY — DT (K1(1270)F — K*(892)0 7 %) 4.5 2.4 1.1 4.9 2.0 3.4
BY — DF (K1(1270)%[D] — K*(892)° %) 0.1
BY — DT (K1(1270)F — K+ p(770)°) 6.0 2.9 1.6 6.6 2.6 4.4
BY — DT (K1(1270)* — K+ p(1450)°) 0.1
BY — DF (K1(1270)* — K (1430)° 7%) 1.4 0.7 0.3 1.5 0.4 1.0
BY — DF (K1(1400)* — K*(892)° %) 233 189 262 103 282  23.0
BY — DT (K1(1400)* — K+ p(770)°) 0.2
b—u  BY . DF (K*(1410)% — K*(892)0 o) 14.8 137 127 7.2 24 115
BY - DF (K*(1410)* — K+ p(770)0) 5.6 5.7 4.6 2.8 0.4 4.4
BY — DT (K(1460)* — K*(892)0 nt) 129 108 126 81 121 119
BY — DT (K(1460)* — K+ p(770)0) 1.0
BY — DF (K (1460)* — K+ £5(500)°) 3.7
BY — DF (K*(1680)F — K*(892)0 7 ) 5.6
BY — DT (K*(1680)* — K+ p(770)°) 2.0
BY — DF (K2(1770) — K*(892)° 7 %) 0.9
BY — (DF n%)p K*(892)° 325 334 313 383 274  30.7
Sum 103.9 887 907 844 830 914
Mi¢, (1400) [MeV] 1401 1406 1404 1401 1397 1408
T, (1400) [MeV] 189 193 192 196 199 193
e+ (1410) [MeV] 1434 1437 1436 1442 1419 1434
T+ (1410) [MeV] 391 400 386 382 453 395
T 050 0.55 0.59 048  0.54  0.58
K 064 075 074 077 071 075
5[°] -4 -15 -14 -24 19 18
v — 285 [°] 40 44 42 50 52 51




